Skl LU IR ik B2

B SR E R

LES RYER]
R 23:05
4 8 )8 HBUOE F 15 T8
JaR & A48 Jm HBOE 5 JEREZL o EHR R

1 HHRER 2, 398 0. 000 2, 398. 000

2 H AL PEY 414 0. 000 414. 000

3 VERER 805 382. 047 1, 187. 047

4 AR 1, 371 0. 000 1, 371. 000

5 HAKEST D2 564 0. 000 564. 000

6 WAy P eipt S i1 221 0. 000 221. 000

7 R 81 0. 000 81. 000

8 EREER 179 84. 952 263. 952

9 NHK EHH LT TIET 2 RERKT 82 0. 000 82. 000
CEl 6, 115 466. 999 (A)6, 581. 999




BHWER

No B =% 4 8 HHBOE 5 EH
TR, T 5 TRELS) T T
ERRIH 84. 952
By ol 0.001
AINOBHZEIZ LR/ LARNH D 0
it 467
it 467. 000
< Dl
AR H(G) Frii v (H) Z Ofth (1)
BEERK pman e | aogmgo | spgmge | smgms 0 0 0
HaoE®) | mhoBEsic bR L2V L0 ©
6, 784 6, 784 6, 582 202 2.98 0. 001 0
T AR CHK
0

¢ REFEICHK: S E OB AN A2 TF = v 7 LET,
F v 7T BEOMEN IS L THERLET,

BEEEARBCHKDAE DS 01272 B2 W56, BUEICAERENH L1207 — 2 DXEITTE A,

B EHFAHCHK D

Eia E=V

= e — (F) &R+ O AxE + M) :FRY + (Do) = 0

c B

D) A2 = (A) ABEEEAF + B) HZ2UE + (O T OBEEHEIC LR LRV b D
(F) - ¥ 88ied = (0) AR + (B) e ik




